MHF4UO - REVIEW # 4 — THE LANGUAGE OF MATHEMATICS

1. Complete the tables given below. This kind of exercise will help you to develop the ability to associate mathematical

symbols, expressions and equations with concrete ideas.
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Conclusion, Interpretation or

or Inequality Heagram Explanation
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Expression, Equation

Conclusion, Interpretation or

or Inequality Didgram Explanation
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2. State whether each of the following is true or false. Provide an explanation to support each response. Keep the
following points in mind:

¢ If a mathematical statement is said to be #uze, it must be true in a// possibie cases.

e A general proof is required to demonstrate that a statement is ###¢. The proof must demonstrate the truth of the
statement in all possible cases! Clearly, any number of examples cannot accomplish this goal.

¢ To demonstrate that a statement is f«ise, it is only necessary to produce a single example that contradicts the
statement. Such an example is called a counterexample.

True or
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Proof, Counterexample or Explanation
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